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Ficha Raices cuadradas exactas y enteras
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V25 -5 255 e) /50 =7,resto 1= 50 =72 +1
/38 = 6,resto 2 = 38 = 62 + 2 f) 59 =7,resto =59 =72+10
V40 =6 resto 4 = 40 =62 + 4 g) 64 -8=64=8

V47 =6,resto 11= 47 =6% +11 h) V80 =8, resto 16 = 80=8?+16

145 = 295 = 145 es raiz entera

196 = 22.72 = \[196 =22 .7% =2.7 =14 es raiz exacta

450 =2-3%-5? = V450 es raiz entera

980 =22-5.72 = V980 es raiz entera

4356 = 23711 = /4356 =/22.37 .17 =2.3.11=66 es raiz exacta
4050 = 23" .52 = /4050 es raiz entera

14400 = 2°-32 .52 = V14400 = 2° .37 .57 = 2°.3.5 =120 es raiz exacta
176400 = 2¢.37.52.7% = /176400 = /2° .37 .52.7% = 2°.3.5.7 = 420 es exacta




